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In the picture below, m<DNT = 67° and m<NSU = 133°. Find the value of x
when m./BKH = (-5x+112)°.
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In the picture below, mZSDP = 66° and mZGED = 117°. Find the value of x
when m./HKR = (9x +162)°.

B A
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In the picture below, mZDSM = 51° and mZNDC = 63°. Find the value of x
when m.GKD = (-2x + 58)°.

vered by
mxw:..s.mmw

In the picture below, mZSDE = 50° and m.24JK = 66°. Find the value of x
when m./TSD = (5x+ 135)°.
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In the picture below, m~BKF = 49°. Find the value of x when
mLACY = (8x +195)".
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In the picture below, m~ACD = 140°. Find the value of x when
mZTQK = (7x+19)".
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In the picture below, mZQCB =142°. Find the value of x when
mLHQC = (~2x + 70)°.
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In the picture below, m2TJP = 48°. Find the value of x when
mZVCA = (=7x +208)".
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In the picture below, m/MDH = (—9x +92)°, m/EAJ = (—6x + 163)°, and
mZEBF = (-8x+151)°. How many degrees is the measure of ~HEP?

K M

In the picture below, mZFBR = (—4x + 127)°, msHEP = (6x — 18)°, and
mZBAE = (-9x + 169)°. How many degrees is the measure of Z/RHN?
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In the picture below, mZJBR = (-8 + 116)°, m«BEC =(—4x +76)°, and
mZREP = (-8x+72)°. How many degrees is the measure of #/PDN?
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In the picture below, m£JAP = (-7x — 63)°, m<HDP = (8x +258)", and
mZHBA = (—7x+ 3)°. How many degrees is the measure of Z/BEP?
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